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QUESTION 1

A company has a billing and ordering application accessed by ten million subscribers. Some subscribers rarely log in,
and others log in almost every day. The company\\'s goal is to provide the quickest possible response to web requests.
Accesses make repeated reads and occasional writes to user sessions, each of which is 4 KB. Which architecture
meets these needs?

A. a replicated cache, so that applications can always access data locally

B. there is too much data for Coherence to be effective in this scenario

C. a distributed cache with sticky sessions and near caching

D. a small replicated cache for frequent users and database read-through

Correct Answer: C

QUESTION 2

What two sources can be used to provision a WLS domain? (Choose two.)
A. WebLogic Home Gold Image

B. TAR file on network desktop

C. TAR file on local desktop

D. WebLogic Domain Provisioning Profile

E. Middleware Home Gold Image

Correct Answer: CE

QUESTION 3

Which two components are required as part of any EM deployment? (Choose two.)
A. Oracle Management Service

B. Oracle Management Repository

C. Oracle Ops Center

D. Bl Publisher

E. Software Library

Correct Answer: AB

https://docs.oracle.com/cd/B19306_01/em.102/b40103/pre- installation_requirements.htm#CHDEEJEB
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QUESTION 4

Which statement about JRockit Discovery Protocol (JDP) is true?

A. JDP enables network auto discovery of JVMs.

B. JDP is a subset of HTTP.

C. JDP can be used by application to exchange serialized data between JVMs.
D. JDP was initially introduced in the HotSpot VM 1.5.

Correct Answer: A

QUESTION 5

An application frequently requests data (from s Coherence cache configured with a cache loader) that may not be
available in the underlying data source. The cost of looking up data via the cache loader is expensive in terms of time
and resources.

To reduce these costs, which configuration should be used to cache the notion that an entry is not available?

A. Modify the application to maintain a "misses" cache to keep track of the entries that were expected to be found in the
other cache, but were recently not found.

B. Configure a "cache-miss-scheme" on the appropriate cache.

C. Modify the cache loader to maintain a "map" of entries not found, and consult this map before attempting to load an
entry from the external source.

D. This can\\'t be achieved with Coherence.

Correct Answer: A
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